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preirtiton ezidencia A3

1.PODZEMNE PODLAZIE

Rezidencia A3
C.m. | Nazov miestnosti Plocha (m?)
A3/01 | Garaz 89,17
A3/02 | Sklad 10,55
A3/03 | Kotolna 8,71
A3/04 | Schodisko 0,27
Spolu 113,70
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el Rezidencia A3

1.NADZEMNE PODLAZIE
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TERASA

Rezidencia A3

C.m. | Nazov miestnosti Plocha (m?)
A3/11| Obyvacia izba+kuchyna | 104,58
A3M2 | Schodisko 6,26
A3M3 | WC 3,15
Spolu 113,99
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preirtiton ezidencia A3

2.NADZEMNE PODLAZIE
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Rezidencia A3

C.m. | Nazov miestnosti Plocha (m?)
A3/21| Chodba 14,82
A3/22 | Izba 22,28
A3123 | Klpelna 6,93
Alf24 | |zba 19,89
A3/25| Schodisko 554
A3/26 | Izba 17,84
A3127 | Klpelna 6,93
A3/28 | I1zba 16,31
Spolu 110,54




e Rezidencia A3

3.NADZEMNE PODLAZIE

q [ | 5! ] Rezidencia A3
4 300 200@ 2700 | 7200 = 4 300 300 N
[l L C.m. | Nazov miestnosti Plocha (m3)
= A3f31 | Schodisko 5,71
=
B2 A3132 | Izba 27,80
. _ _ I A3/33 | Kipeliia 15,06
Rezidencia A3 1050 @ » A3/34 | Izba 16,94
e =t A3135 | Kipelia 1519
! Il = A3136 | Izba 29.76
- ) Spolu 110,46
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